C:# Rewriting Expressions Name:

Rewrite each expression in its simplest form. Answers
V(TN 9)- (TN +9) .
2.
D (X -13) - (VreX + 16) N
.
Y (%0-9)- (V20-3) ;
6.
K -(1/6V+6)+(576V+7) 7.
8.
¥ (¥p-18)+ (YD +18) o
10.
6)

(7T -14)- (7T +11)

D (Fw-17)- (Ve - 19)

% '( '5/7P+20)-(4/7P' 10)

¥ (Yz-18)+(Yez +11)

o -(7/9C-3)+(8/36C+17)

1-10 90|80 70|60 |50]40]30]20[10] O |
[ Math ] www.CommonCoreSheets.com 7




ﬂh Rewriting Expressions Name: Answer Key

Rewrite each expression in its simplest form. Answers
D (TN+9) - (N +9) L /N0
Y N+9- "7, N-9 L, /eX-29
D (%X -13)- (Ve + 16) 2 /uQ6
ogX - 13- VX - 16 VAV
Y (%0-9)- (7p4Q-3) . /D40
12/24Q -9- 4/24Q +3 6. 7 51 +3
Y Tvrey+ (T ) /W36
AN T AR . /P10
¥ (¥p-18)+ (YD +18) o SiZT
D+18+7/,D+18 o - /ssCH14
O (er-1ay- (Ve +11)
T +14- 7T -11
D (T -17) - (YgW - 19)
2w 17 - /W + 19
¥ (Fp+20)-(Vp-10)
Yp-20- 7P+ 10
D (Tz-18)+(Nez +11)
Yz + 18+ Yz + 11
O (Vic-3)+ (Y +17)
2 C+ 3+ Vo C+ 17
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